
COPYRIGHT C 2001 CANON INC.              CANON CARD READER-C1/D1 REV.0 JAN. 2001 PRINTED IN JAPAN [IMPRIME AU JAPON]

FIGURE   E10 CARD READER-C1

1

5

NOTE : This assembly does not include the parts shown with key No. 501 and 502.

502

3

4

2

505

504

503

501

506

1

E10-1



FIGURE
&

KEY NO.
PART NUMBER DESCRIPTION SERIAL NUMBER / REMARKS

R
A
N
K

Q’
T
Y

COPYRIGHT C 2001 CANON INC.              CANON CARD READER-C1/D1 REV.0 JAN. 2001 PRINTED IN JAPAN [IMPRIME AU JAPON]

E10 - FG3-1890-000 1 CARD READER-C1

  1 FB3-8873-000 2 SCREW,MACH.,TRUSS HEAD,M4X4

  2 FC1-8289-000 1 COVER, LOWER, GRAY (LIGHTER)

  3 FC3-0891-000 1 PANEL, CONTROL CARD

  4 FH5-3183-000 1 CARD READER UNIT

  5 FF3-2302-000 1 MOUNT, CONTROL CARD

501 XB3-6401-000 1 SCREW,RS,M4X10 SEE NOTE

502 XD1-4100-402 1 WASHER,TOOTHED LOCK SEE NOTE

503 XB1-2300-807 1 SCREW,MACH.,TRUSS HEAD,M3X8

504 XB4-6261-209 4 SCREW,TAPPING,PAN HEAD,M2.6X12

505 XB7-2200-307 1 NUT,HEX,M3

506 XD1-4100-402 1 WASHER,TOOTHED LOCK

E10-2


